

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 18, 2025

	nate Number Prime Contractor			•		August 2, 20 August 15, 2	025	Net Cha	Contract Am nge Order Ai Contract Am	nount	\$12,831,730.6 (\$916,053.2 \$11,915,677.4		
Approval Date											By U	Iser	
August 18, 2025			Gen	erated and	Approved	(and should be	considere	d Draft)	at the Project	Office Level by	/	streeb3	
August 19, 2025	9, 2025 Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										/	wilsor2	
ugust 20, 2025 Reviewed and Approved at the Central Office Controllers Office Level by									/	ramses1			
Original Completion Date Current Completion Date Actual Completion Date % of Current Com									nt Contract Amount Complete				
June 1, 2026	June 1, 2026 June 1, 2026 44.49%												
	C	ontract Information	tional Dat	tes					Mi	lestones			
Date Description	Original Co	ompletion Date	Current	Completio	on Date			ate	Original	Current	Days	Diary	
Acceptance Date							Desci	ription	Completion Date	Completion Date	Remaining on	Charge Days	
Awarded Date	October 2,	2024	October	2, 2024							Milestone		
Letting Date	September	20, 2024	Septemb	per 20, 202	4		Milestor		July 19,	July 19,	Milestone		
Notice to Proceed Date November 4, 2024 November 4, 2024 November 4, 2024 October 4, 2024 November 4, 2024 October 6, 2025 October 7, 2025 O									Complete				
Work Began Date	March 24, 2	2025	March 2	4, 2025									

Contract Total Pa	Contract Total Pay For Estimate No. 10												
		This Estimate	Previous	To Date									
240920-C04													
	Total Posted Items Pay	\$8,057.41	\$5,293,275.25	\$5,301,332.66									
	Gross Item Adjustments	\$28,038.44	\$139,223.72	\$167,262.16									
	Incentive	\$0.00	\$0.00	\$0.00									
	Disincentive	\$0.00	\$0.00	\$0.00									
	Liquidated Damage	\$30,000.00	(\$30,000.00)	\$0.00									
	Other Contract Adjustments	(\$30,000.00)	\$180,255.05	\$150,255.05									
	•		\$5,582,754.02	\$5,618,849.87									
Contract Total Pa	ayable This Estimate:	\$36,095.85											

tems F	Paid This	Estimate	Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JKU0052	0590	4071005	TACK COAT	GAL	\$2.890	1,020	\$2,947.80
	0850	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.160	82.200	\$13.15
	0860	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.260	10,319.200	\$2,682.99
	0870	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.260	7,556.800	\$1,964.77
	0880	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.500	897.400	\$448.70

Project JKU0052 - Total \$8,057.41 Overall - Total \$8,057.41

Contract Adjustments This Estimate

B : (N)	A 11 T		0 1	D : (D)	
Project Number	Adj Type	System Generated	Comments	Project Percentage	Amount
JKU0052	Liquidated Damage	streeb3	Moved all previously charged Liquidated Damages for exceeding the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 to the correct adjustment type, Road User Cost.	100	\$30,000.00
JKU0052	Other Contract Adjustment	streeb3	Moved all previously charged Liquidated Damages for exceeding the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 to the correct adjustment type, Road User Cost.	100	(\$30,000.00)

Revision 5/29/2025 Page 1 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 18, 2025

Progress Estimate Number 10				240920-C04 Ideker, Inc.	Pay Period Sta Pay Period End		Original Contract Net Change Order Current Contract	r Amount	(2,831,730.63 (\$916,053.21 1,915,677.42		
Proje	ct Num	ber	Adj Type	Syst	em Generated	Comments	Project Percer	ntage	Amou	ınt		
Project J	KU0052	2 - Tota	1						\$0.00			
Overall -	Total		These amounts are	listed in the li	ncentive, Disincen	tive, Liquidated Damages	or Other Contract Adj	ustments		\$0.00		
ine Item	<u>Adjustr</u>	nents '	This Estimate									
Project Number	Line No.		Item Description	Adjustment Type	Other Item Adjustment Type	Comme	nts	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
JKU0052	0710	CHAN	INELIZER (TRIM-LINE)	Overrun		Unit price based on average adjustments for installed of previous payment estimate Adjustments of ',20.00000 applied (if non-zero).	uantity on all es. Price	75	\$20.00	\$1,500.00		
	0760	SIGN COMM INTER	GEABLE MESSAGE WITH MUNICATION RFACE, CONTRACTOR IISHED / RETAINED	Overrun		Unit price based on average adjustments for installed of previous payment estimate Adjustments of ',2360.000 applied (if non-zero).	1	\$2,360.00	\$2,360.00			
	0790	THER	ORMED MOPLASTIC MENT MARKING, 6 IN. E	Overrun		Unit price based on average adjustments for installed of previous payment estimate Adjustments of ',6.00000 - (if non-zero).	uantity on all es. Price	106	\$6.00	\$636.00		
	0800	THER	ORMED MOPLASTIC MENT MARKING, 24 HITE	Overrun		Unit price based on average adjustments for installed of previous payment estimate Adjustments of ',24.00000 applied (if non-zero).	uantity on all es. Price	17	\$24.00	\$408.00		
	0810	THER PAVE	ORMED MOPLASTIC MENT MARKING, 24 ELLOW	Overrun		Unit price based on average adjustments for installed of previous payment estimate Adjustments of ',24.00000 applied (if non-zero).	18	\$24.00	\$432.00			
	0850	WATE	YELLOW HIGH BUILD RBORNE PAVEMENT KING PAINT, TYPE L S	Overrun		Unit price based on average adjustments for installed of previous payment estimate Adjustments of ',0.16000 - (if non-zero).	uantity on all es. Price	208.80000	\$0.16	\$33.41		
	0860	WATE	WHITE HIGH BUILD ERBORNE PAVEMENT (ING PAINT, TYPE L S	Other Item Adjustment	Retroreflectivity Adjustment	Retro-reflectivity bonus for Build	6 IN. White High			\$602.40		
	0870	WATE	YELLOW HIGH BUILD ERBORNE PAVEMENT (ING PAINT, TYPE L S	Other Item Adjustment	Retroreflectivity Adjustment	Retro-reflectivity bonus for Build	6 IN. Yellow High			\$463.93		
	0910	PAVE OF SI	MILLING BITUMINOUS MENT FOR REMOVAL JRFACING (3 IN. (OR LESS)	Other Item Adjustment	Substandard Item	On Estimate #2 we charge deduct for milling complete 2025, and April 3rd, 2025,	ed on April 2nd,			\$21,602.70		
						April 2 - 14,887 SY Milling Deduct on 7,400 SY X \$1. April 3 - 20,251 SY Milling Deduct on 18,000 SY X \$	89 X .5 = \$6,993 - 90% Substandard					
						After further conversation, contractor decided to agresubstandard deduct on the on April 2nd, 2025, and 2nd, 2nd, 2nd, 2nd, 2nd, 2nd, 2nd, 2n	e to a revised e milling completed					
						April 2 - 14,887 SY Milling Deduct on 7,400 SY X \$1. April 3 - 20,251 SY Milling Deduct on 18,000 SY X \$ \$1701.00	89 X .05 = \$699.30 - 90% Substandard					
						The total figured on Estima	-4- 40					

Revision 5/29/2025 Page 2 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 18, 2025

Estimate	gress e Number 10	Contract ID Prime Contractor	240920-C04 Ideker, Inc.	Pay Period Sta Pay Period En		Original Contract Net Change Order Current Contract	Amount	\$12,831,730.63 (\$916,053.21) \$11,915,677.42	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comme	nts	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0052					\$24,003.00. The total figu agreement is -\$2,400.30. Therefore, we are paying this estimate of \$21,602.7 \$2,400.30) to reflect the cl newly agreed upon substa	the difference on 0 (\$24,003.00 - nanges made to the			
Total									\$28,038.44

Revision 5/29/2025 Page 3 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Cont	ract Project Inform	ation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JKU0050	FAF-152-1 (17)	Coldmill, resurface, and pavement repair	152	PLATTE	from I-29 to Route 169		
JKU0052	FAF-152-1 (18)	Coldmill, resurface, and pavement repair	152	CLAY	from Route 169 to Route 1		
Totals b	y Job Nu	mbers					
JKU0050		Item Pay tem Adjustme		tem Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$996,466.32 \$148,535.62 \$1,145,001.94	To Date \$996,466.32 \$148,535.62 \$1,145,001.94
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00
JKU0052		Item Pay tem Adjustme		tem Pay	This Estimate \$8,057.41 \$28,038.44 \$36,095.85	Previous \$4,296,808.93 (\$9,311.90) \$4,287,497.03	To Date \$4,304,866.34 \$18,726.54 \$4,323,592.88
			tments		\$0.00 \$0.00 \$30,000.00 (\$30,000.00)	\$0.00 \$0.00 (\$30,000.00) \$180,255.05	\$0.00 \$0.00 \$0.00 \$150,255.05

Revision 5/29/2025 Page 4 of 21





Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 5/29/2025 Page 5 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

ct Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
)- JKU0050	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.10	\$163,200.00	\$16,320.0
	0001	0020	2072000	LINEAR GRADING CLASS 2	65.00	0.00	65.00	STA	48.95	\$1,060.00	\$51,887.
	0001	0030	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	65.00	0.00	65.00	100F	48.95	\$179.00	\$8,762.0
	0001	0040	2159910	MISC.SHAPING SLOPES CLASS III MODIFIED MATERIAL REQUIREMENT	19.00	0.00	19.00	100F	0.00	\$900.00	\$0.0
	0001	0050	3040183	TYPE 1 AGGREGATE FOR BASE (8 IN. THICK)	643.00	0.00	643.00	SQYD	0.00	\$30.20	\$0.0
	0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	3,966.00	0.00	3,966.00	SQYD	3,298.23	\$18.00	\$59,368.
	0001	0070	3049910	MISC.PERMANEMT AGGREGATE EDGE TREATMENT	3,792.00	-3,792.00	0.00	TONS	0.00	\$57.75	\$0.
	0001	0800	4010150	TYPE A2 SHOULDER	3,966.00	0.00	3,966.00	SQYD	3,298.23	\$65.85	\$217,188
	0001	0090	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	9,198.30	560.70	9,759.00	TONS	0.00	\$89.08	\$0
	0001	0100	4030005	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095C MIX)	38,964.90	-802.60	38,162.30	TONS	1,192.35	\$92.02	\$109,720
	0001	0110	4071005	TACK COAT	8,480.00	0.00	8,480.00	GAL	0.00	\$2.78	\$0
	0001	0120	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	94,030.00	0.00	94,030.00	GAL	2,561.00	\$2.89	\$7,401
	0001	0130	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	3,864.00	-3,864.00	0.00	SQYD	0.00	\$48.23	\$0
	0001	0140	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	7.00	60.00	67.00	CUYD	60.00	\$88.00	\$5,280
	0001	0150	6096042	PLACING TYPE 2 ROCK DITCH LINER	7.00	60.00	67.00	CUYD	60.00	\$177.50	\$10,650
	0001	0160	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,968.00	-1,307.20	660.80	SQYD	660.80	\$249.40	\$164,803
	0001	0170	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	204.00	-204.00	0.00	SQYD	0.00	\$1.00	\$0
	0001	0180	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	204.00	-204.00	0.00	SQYD	0.00	\$1.00	\$0
	0001	0190	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	11,808.00	-8,489.00	3,319.00	LF	3,319.00	\$1.45	\$4,812
	0001	0200	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	4,920.00	-3,930.00	990.00	EA	990.00	\$4.20	\$4,158
	0001	0210	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	141.70	-62.40	79.30	TONS	79.30	\$365.03	\$28,94
	0001	0220	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	648.00	-119.60	528.40	SQYD	528.40	\$158.82	\$83,92
	0001	0230	6161005	CONSTRUCTION SIGNS	1,770.00	0.00	1,770.00	SQFT	1,086.65	\$5.00	\$5,43
	0001	0240	6161008	ADVANCED WARNING RAIL SYSTEM	23.00	0.00	23.00	EA	14.00	\$50.00	\$70
	0001	0250	6161025	CHANNELIZER (TRIM-LINE)	220.00	0.00	220.00	EA	220.00	\$25.00	\$5,50
	0001	0260	6161030	TYPE 3 MOVEABLE BARRICADE	15.00	0.00	15.00	EA	12.00	\$125.00	\$1,50
	0001	0270	6161033	DIRECTION INDICATOR BARRICADE	56.00	0.00	56.00	EA	28.00	\$60.00	\$1,68
	0001	0280	6161040	FLASHING ARROW PANEL	6.00	0.00	6.00	EA	3.00	\$900.00	\$2,70
	0001	0290	6161055	SEQUENTIAL FLASHING WARNING LIGHT	56.00	0.00	56.00	EA	28.00	\$60.00	\$1,68
	0001	0300	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	6.00	0.00	6.00	EA	3.00	\$3,000.00	\$9,00
	0001	0310	6169902	MISC.ADA COMPLIANT MOVABLE BARRICADE	4.00	0.00	4.00	EA	0.00	\$50.00	\$1
	0001	0320	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$547,374.12	\$136,84
	0001	0330	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	106.00	0.00	106.00	LF	0.00	\$24.00	\$
	0001	0340	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	18.00	0.00	18.00	EA	0.00	\$350.00	\$
	0001	0350	6200036 6205902A	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	34.00 81,710.00	0.00	34.00 81,710.00	EA LF	2,639.00	\$205.00 \$0.26	\$68
	0001	0370	6205903A	PAINT, TYPE L BEADS	68,105.00	0.00	68,105.00	LF	2,435.00	\$0.26	\$63:
	0001	0380	6205906A	MARKING PAINT, TYPE L BEADS 12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	11,571.00	0.00	11,571.00	LF	0.00	\$0.50	\$
	0001	0390	6221001	MARKING PAINT, TYPE L BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	261,156.00	-6,728.00	254,428.00	SQYD	7,474.13	\$2.29	\$17,11
	0001			SURFACING (3 IN. THICK OR LESS)							
	0001	0400	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	18,620.00	0.00	18,620.00	SQYD	416.66	\$7.43	\$3,09
	0001	0410	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	20.00	60.00	80.00	SQYD	60.00	\$17.50	\$1,05
		0420	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	634.00	0.00	634.00	STA	0.00	\$21.50	\$
	0010	0430	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	6,140.00	0.00	6,140.00	LF	0.00	\$22.50	\$
	0010	0440	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	6.00	0.00	6.00	EA	0.00	\$3,245.00	\$
	0010	0450	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	7.00	0.00	7.00	EA	0.00	\$3,172.00	\$
	0	0400	6061075	MGS LONG SPAN GUARDRAIL SECTION	2.00	0.00	2.00	EA EA	0.00	\$2,406.00	\$
	0010	0.470	0004000								
	0010	0470	6061080	MGS END ANCHOR	10.00	0.00			0.00	\$919.00	\$1
	0010 0010 0030	0470 0480 0490	6061080 6063014 9029902	MGS END ANCHOR TYPE A CRASHWORTHY END TERMINAL (MASH) MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	10.00 15.00 3.00	0.00	15.00	EA EA	0.00	\$919.00 \$2,742.00 \$16,225.00	\$



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

act F	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See report generated date)
20- Jh	KU0050	0001	5002	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	0.00	96.00	96.00	EA	96.00	\$13.44	\$1,290.3
		0001	5003	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	0.00	120.00	120.00	EA	120.00	\$13.44	\$1,612.
		0001	5004	6191000	PAVEMENT EDGE TREATMENT	0.00	4,420.00	4,420.00	LF	4,420.00	\$5.99	\$26,475.
		0001	5005	1046002	VALUE ENGINEERING	0.00	17,162.80	17,162.80	EA	0.00	\$1.00	\$0.
		0001	5006	2029901	MISC.REMOVAL FOR SLOPE REPAIR	0.00	1.00	1.00	LS	1.00	\$1,711.50	\$1,711.
		0001	5007	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	0.00	3,792.00	3,792.00	TONS	80.00	\$56.75	\$4,540
Pi	roject Jk	(U0050 - To	otal Value	e Posted to I	Date as of Report Generated Date							\$996,466
Jk	KU0052	0001	0500	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$17,359.00	\$17,359
		0001	0510	2072000	LINEAR GRADING CLASS 2	1.00	-1.00	0.00	STA	0.00	\$1,685.00	\$0
		0001	0520	2101006A		1.00	-1.00	0.00	100F	0.00	\$874.00	\$0
		0001			SUBGRADE COMPACTION (6-INCH DEPTH)							
			0530	2159910	MISC.SHAPING SLOPES CLASS III MODIFIED MATERIAL REQUIREMENT	10.00	0.00	10.00	100F	10.00	\$900.00	\$9,000
		0001	0540	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	100.00	-100.00	0.00	SQYD	0.00	\$30.68	\$0
		0001	0550	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,790.00	-1,790.00	0.00	TONS	0.00	\$69.40	\$0
		0001	0560	4010150	TYPE A2 SHOULDER	100.00	-100.00	0.00	SQYD	0.00	\$105.60	\$0
		0001	0570	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	4,606.00	1,805.80	6,411.80	TONS	6,411.80	\$89.08	\$571,163
		0001	0580	4030005	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095C MIX)	21,987.60	-731.70	21,255.90	TONS	21,255.90	\$97.19	\$2,065,860
		0001	0590	4071005	TACK COAT	4,240.00	2,012.00	6,252.00	GAL	6,252.00	\$2.89	\$18,068
		0001	0600	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	51,930.00	-3,467.00	48,463.00	GAL	48,463.00	\$2.89	\$140,058
		0001	0610	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	16,554.00	-16,554.00	0.00	SQYD	0.00	\$26.98	\$(
		0001	0620	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	608.00	-334.60	273.40	SQYD	273.40	\$252.60	\$69,060
		0001			DEPTH PAVEMENT REPAIR							-
		0001	0630 0640	6131012 6131013	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	60.00	-60.00 -60.00	0.00	SQYD	0.00	\$1.00 \$1.00	\$0
		0001	0650	6131014	(PAVEMENT REPAIR) FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER	3,648.00	-2,216.00	1,432.00	LF	1,432.00	\$1.45	\$2,076
		0001			AND INTERNAL SAW CUTS)							
			0660	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,520.00	-1,046.00	474.00	EA	474.00	\$4.20	\$1,990
		0001	0670	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	94.60	-32.50	62.10	TONS	62.10	\$341.99	\$21,23
		0001	0680	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	432.00	-83.10	348.90	SQYD	348.90	\$120.75	\$42,129
		0001	0690	6161005	CONSTRUCTION SIGNS	1,658.00	-407.50	1,250.50	SQFT	1,250.50	\$5.00	\$6,252
		0001	0700	6161008	ADVANCED WARNING RAIL SYSTEM	16.00	-9.00	7.00	EA	7.00	\$50.00	\$35
		0001	0710	6161025	CHANNELIZER (TRIM-LINE)	220.00	75.00	295.00	EA	295.00	\$20.00	\$5,90
		0001	0720	6161030	TYPE 3 MOVEABLE BARRICADE	15.00	-6.00	9.00	EA	9.00	\$85.00	\$765
		0001	0730	6161033	DIRECTION INDICATOR BARRICADE	56.00	-28.00	28.00	EA	28.00	\$40.00	\$1,120
		0001	0740	6161040	FLASHING ARROW PANEL	6.00	-3.00	3.00	EA	3.00	\$600.00	\$1,80
		0001	0750	6161055	SEQUENTIAL FLASHING WARNING LIGHT	56.00	-28.00	28.00	EA	28.00	\$40.00	\$1,12
		0001	0760	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION	4.00	1.00	5.00	EA	5.00	\$2,360.00	\$11,80
		0001			INTERFACE, CONTRACTOR FURNISHED / RETAINED							
		0001	0770	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	4.00	-4.00	0.00	EA	0.00	\$50.00	\$1
		0001	0780 0790	6181000 6200009	MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING. 6 IN.	1.00	0.00	1.00	LS LF	1.00	\$485,843.59 \$6.00	\$485,843 \$630
		0001	0800	6200015	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	368.00	-43.00	325.00	LF	325.00	\$24.00	\$7,800
		0001			WHITE							
			0810	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	117.00	18.00	135.00	LF	135.00	\$24.00	\$3,240
		0001	0820	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	39.00	-8.00	31.00	EA	31.00	\$350.00	\$10,85
		0001	0830	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	3.00	0.00	3.00	EA	3.00	\$500.00	\$1,50
		0001	0840	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	88.00	0.00	88.00	EA	88.00	\$205.00	\$18,040
		0001	0850	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	120.00	291.00	411.00	LF	411.00	\$0.16	\$65
		0001	0860	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	50,715.00	881.00	51,596.00	LF	51,596.00	\$0.26	\$13,414
		0001	0870	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	39,465.00	-1,681.00	37,784.00	LF	37,784.00	\$0.26	\$9,823
		0001	0880	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,052.00	-565.00	4,487.00	LF	4,487.00	\$0.50	\$2,243
		0001	0890	6207001	PAVEMENT MARKING REMOVAL	324.00	-145.00	179.00	LF	179.00	\$1.00	\$179
		0001	0900	6207001	PAVEMENT MARKING REMOVAL PAVEMENT MARKING REMOVAL (SYMBOLS)	12.00	-8.00	4.00	EA	4.00	\$75.00	\$300
			-500			.2.00	5.00	4.00	_/ \	4.00	ψ. 0.00	ΨΟΟΟ

Revision 5/29/2025 Page 7 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240920- C04	JKU0052	0001	0910	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	147,920.00	-9,880.00	138,040.00	SQYD	138,040.00	\$1.89	\$260,895.60
		0001	0920	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	10,448.00	-2,122.00	8,326.00	SQYD	8,326.00	\$9.20	\$76,599.20
		0001	0930	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	538.00	0.00	538.00	STA	538.00	\$23.00	\$12,374.00
		0010	0940	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	2,613.00	0.00	2,613.00	LF	2,613.00	\$22.50	\$58,792.50
		0010	0950	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	4.00	0.00	4.00	EA	4.00	\$3,245.00	\$12,980.00
		0010	0960	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	2.00	0.00	2.00	EA	2.00	\$3,172.00	\$6,344.00
		0010	0970	6061080	MGS END ANCHOR	4.00	0.00	4.00	EA	4.00	\$919.00	\$3,676.00
		0010	0980	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10.00	0.00	10.00	EA	10.00	\$2,742.00	\$27,420.00
		0030	0990	9029902	MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	7.00	-3.00	4.00	EA	4.00	\$11,000.00	\$44,000.00
		0001	5101	1046002	VALUE ENGINEERING	0.00	26,141.35	26,141.35	EA	26,141.35	\$1.00	\$26,141.35
		0001	5102	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	0.00	18.00	18.00	EA	18.00	\$13.44	\$241.92
		0001	5103	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	0.00	73.00	73.00	EA	73.00	\$13.44	\$981.12
		0001	5104	1046002	VALUE ENGINEERING	0.00	42,123.64	42,123.64	EA	42,123.64	\$1.00	\$42,123.64
		0001	5105	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0.00	6,479.00	6,479.00	SQYD	6,479.00	\$2.29	\$14,836.91
		0001	5106	1046002	VALUE ENGINEERING	0.00	50,407.60	50,407.60	EA	50,407.60	\$1.00	\$50,407.60
		0001	5107	1046002	VALUE ENGINEERING	0.00	9,792.06	9,792.06	EA	9,792.06	\$1.00	\$9,792.06
		0001	5108	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	0.00	1,699.00	1,699.00	TONS	1,699.00	\$68.40	\$116,211.60
	Project Jr	KU0052 - To	otal Value	Posted to I	Date as of Report Generated Date							\$4,304,866.36
240920-C	04 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$5,301,332.67

Revision 5/29/2025 Page 8 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JKU0052

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0590	4071005	TACK COAT	8/15/25	8/18/25	1	1,020.00	GAL	EB/WB 152	9.636		12.275		
0850		4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/15/25	8/15/25	1	82.20	LF	EB/WB 152	9.636		12.275		100% Payment post retroreflectivity results.
0860		6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/15/25	8/15/25	1	10,319.20	LF	EB/WB 152	9.636		12.275		100% Payment post retroreflectivity results.
0870		6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/15/25	8/15/25	1	7,556.80	LF	EB/WB 152	9.636		12.275		100% Payment post retroreflectivity results.
0880	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/15/25	8/15/25	1	897.40	LF	EB/WB 152	9.636		12.275		100% Payment post retroreflectivity results.

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 9 of 21



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks	
riojest	Line	Doscription	Туре	Adjustment Type	Number	Date	Ву	Amount	romane	
JKU0050	0060	TYPE 5 AGGREGATE	Material		3	May 2, 2025	SYSTEM	(\$6,880.14)		
		FOR BASE			3	May 2, 2025	SYSTEM	\$6,880.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					4	May 16, 2025	SYSTEM	(\$6,880.14)		
					4	May 16, 2025	SYSTEM	\$6,880.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					5	Jun 2, 2025	SYSTEM	(\$41,170.14)		
					5	Jun 2, 2025	SYSTEM	\$41,170.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					6	Jun 17, 2025	SYSTEM	(\$59,368.14)		
					6	Jun 17, 2025	SYSTEM	\$59,368.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					7	Jun 30, 2025	SYSTEM	(\$59,368.14)		
					7	Jun 30, 2025	SYSTEM	\$59,368.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0060 -	Total						\$0.00		
	0800	80 TYPE A2 SHOULDER	Material	Material		3	May 2, 2025	SYSTEM	(\$25,169.85)	
					3	May 2, 2025	SYSTEM	\$25,169.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
					4	May 16, 2025	SYSTEM	(\$25,169.85)		
					4	May 16, 2025	SYSTEM	\$25,169.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
					5	Jun 2, 2025	SYSTEM	(\$25,169.85)		
					5	Jun 2, 2025	SYSTEM	\$25,169.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
					6	Jun 17, 2025	SYSTEM	(\$217,188.45)		
					6	Jun 17, 2025	SYSTEM	\$217,188.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
					7	Jun 30, 2025	SYSTEM	(\$217,188.45)		
					7	Jun 30, 2025	SYSTEM	\$217,188.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 6 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0080							\$0.00		
	0100	ASPH. CONC. MIXTURE PG 76-22 (SP095C)	Other Item Adjustment	ACAD	2	Apr 16, 2025	streeb3	\$427.05	625.72Tons of SP-095 installed this pay period.	
		(0000)			4	May 16, 2025	streeb3	\$441.97 \$869.02	566.63 tons of SP-095 installed this pay period.	
				ACAD - Total						
			Other Item A	djustment - 1	otal			\$869.02		
	0100	Total						\$869.02		
	0120	MISC.	Material		2	Apr 16,	SYSTEM	(\$4,444.82)		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
JKU0050	0120	MISC.	Material	.,,,,		2025					
					2	Apr 16, 2025	SYSTEM	\$4,444.82	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To	tal				\$0.00			
	0120 -	Total						\$0.00			
	0140	FURN. TYPE 2 ROCK DITCH LINER	Overrun	Overrun	3	May 2, 2025	SYSTEM	(\$4,664.00)			
					6	Jun 17, 2025	SYSTEM	\$4,664.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',88.00000 - 88.00000, 'is applied (if non-zero).		
				Overrun - T	otal			\$0.00			
			Overrun - To	tal				\$0.00			
	0140 -	Total						\$0.00			
	0150	PLACING TYPE 2 ROCK DITCH LINER	Overrun	Overrun	3	May 2, 2025	SYSTEM	(\$9,407.50)			
					6	Jun 17, 2025	SYSTEM	\$9,407.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',177.50000 - 177.50000, 'is applied (if non-zero).		
				Overrun - T	otal			\$0.00			
			Overrun - To	tal				\$0.00			
	0150 -	Total						\$0.00			
	0160	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		1	Apr 3, 2025	SYSTEM	(\$101,924.79)			
					1	Apr 3, 2025	SYSTEM	\$101,924.79	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user wilsor2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
						2	Apr 16, 2025	SYSTEM	(\$164,803.52)		
					2	Apr 16, 2025	SYSTEM	\$164,803.52	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - Total					\$0.00			
	0160 -	Total						\$0.00			
	0200	DOWEL BAR (DRILLING, FURNISHING AND	Material		1	Apr 3, 2025	SYSTEM	(\$1,860.60)			
		INST			1	Apr 3, 2025	SYSTEM	\$1,860.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user wilsor2 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
					2	Apr 16, 2025	SYSTEM	(\$4,158.00)			
					2	Apr 16, 2025	SYSTEM	\$4,158.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.		
							3	May 2, 2025	SYSTEM	(\$4,158.00)	
							3	May 2, 2025	SYSTEM	\$4,158.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					4	May 16, 2025	SYSTEM	(\$4,158.00)			
					4	May 16, 2025	SYSTEM	\$4,158.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.		
					5	Jun 2, 2025	SYSTEM	(\$4,158.00)			
					5	Jun 2, 2025	SYSTEM	\$4,158.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 13 on the current Payment Estimate.		
					6	Jun 17, 2025	SYSTEM	(\$4,158.00)			



					_					
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
JKU0050	0200	DOWEL BAR (DRILLING, FURNISHING AND	Material		6	Jun 17, 2025	SYSTEM	\$4,158.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
		INST			7	Jun 30, 2025	SYSTEM	(\$4,158.00)		
					7	Jun 30, 2025	SYSTEM	\$4,158.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0200	Total						\$0.00		
	0210	FURN & PLACE BIT. MATL FOR	Other Item Adjustment	ACAD	1	Apr 3, 2025	streeb3	\$23.20	79.3 tons of 095 for partial depth pavement repair	
		CL C PARTIAL	ACAD -		al			\$23.20		
			Other Item A	djustment - T	otal			\$23.20		
	0210	Total						\$23.20		
	0410	EROSION	Material		3	May 2, 2025	SYSTEM	(\$1,050.00)		
		CONTROL GEOTEXTILE			3	May 2, 2025	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.	
					4	May 16, 2025	SYSTEM	(\$1,050.00)		
					4	May 16, 2025	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.	
					5	Jun 2, 2025	SYSTEM	(\$1,050.00)		
					5	Jun 2, 2025	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment Estimate Exception 17 on the current Payment Estimate.	
							6	Jun 17, 2025	SYSTEM	(\$1,050.00)
					6	Jun 17, 2025	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 26 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
			Overrun	Overrun	3	May 2, 2025	SYSTEM	(\$700.00)		
					6	Jun 17, 2025	SYSTEM	\$700.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',17.50000 - 17.50000, 'is applied (if non-zero).	
				Overrun - Total				\$0.00		
			Overrun - Total					\$0.00		
	0410	Total						\$0.00		
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$87,802.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
		110114	O TIVII	- Total				\$87,802.00		
			Construction	Stockpile S	ΓΜΙ - Total			\$87,802.00		
	0430	Total						\$87,802.00		
	0440	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$11,215.80	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$11,215.80		
			Construction	Stockpile S	ΓΜΙ - Total			\$11,215.80		
	0440	Total						\$11,215.80		
	0450	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$12,724.60	Payment Estimate Item Adjustment generated Stockpile Transaction	
		(STMI - Total					\$12,724.60		
			Construction Stockpile STMI - Total							
	0450	Total						\$12,724.60		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0050	0460	MGS LONG SPAN GUARDRAIL SECTION	Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$3,040.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		GLOTION	OTIVII	- Total				\$3,040.00	
			Construction	n Stockpile Si	TMI - Total			\$3,040.00	
	0460 -							\$3,040.00	
	0470	MGS END ANCHOR	Construction Stockpile STMI	- Total	3	May 2, 2025	SYSTEM	\$7,344.50 \$7,344.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		FMI Total			\$7,344.50	
	0470	- Total	Construction	ո Stockpile Տ⊺	i ivii - TOtai			\$7,344.50	
		TYPE A CRASHWORTHY	Construction Stockpile		3	May 2, 2025	SYSTEM	\$25,516.50	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)	STMI	- Total				\$25,516.50	
			Construction	n Stockpile S	ΓΜΙ - Total			\$25,516.50	
	0480 -	- Total						\$25,516.50	
	5002	DOWEL BAR (FURNISH AND	Material		6	Jun 17, 2025	SYSTEM	(\$1,290.24)	
		INSTALL WITH BASK			6	Jun 17, 2025	SYSTEM	\$1,290.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user streeb3 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					7	Jun 30, 2025	SYSTEM	(\$1,290.24)	
					7	Jun 30, 2025	SYSTEM	\$1,290.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					8	Jul 15, 2025	SYSTEM	(\$1,290.24)	
					8	Jul 15, 2025	SYSTEM	\$1,290.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment
									Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception 1 on the current Payment Estimate.
			Material - To					\$0.00 \$0.00	Estimate Exception 1 on the current Payment Estimate.
	5002 -	- Total	Material - To						Estimate Exception 1 on the current Payment Estimate.
		Total TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material - To		6	Jun 17, 2025	SYSTEM	\$0.00 \$0.00 (\$1,612.80)	
		TIE BAR (DRILL, FURN & INSTAL)			6		SYSTEM SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate.
		TIE BAR (DRILL, FURN & INSTAL)				2025 Jun 17,		\$0.00 \$0.00 (\$1,612.80)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment
		TIE BAR (DRILL, FURN & INSTAL)			6	2025 Jun 17, 2025 Jun 30,	SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment
		TIE BAR (DRILL, FURN & INSTAL)			7	2025 Jun 17, 2025 Jun 30, 2025 Jun 30,	SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment
		TIE BAR (DRILL, FURN & INSTAL)			6 7 7	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment
		TIE BAR (DRILL, FURN & INSTAL)			6 7 7 8	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15, 2025 Jul 15, 2025 Jul 15,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
		TIE BAR (DRILL, FURN & INSTAL)		- Total	6 7 7 8	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15, 2025 Jul 15, 2025 Jul 15,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 (\$1,612.80)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
	5003	TIE BAR (DRILL, FURN & INSTAL)	Material	- Total	6 7 7 8	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15, 2025 Jul 15, 2025 Jul 15,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
	5003	TIE BAR (DRILL, FURN & INSTAL) (TYPE L Total MISC. AGGREGATE	Material	- Total	6 7 7 8	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15, 2025 Jul 15, 2025 Jul 15,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
	5003	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material - To	- Total	6 7 7 8 8 8 8	2025 Jun 17, 2025 Jun 30, 2025 Jul 30, 2025 Jul 15, 2025 Jul 15, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
	5003	TIE BAR (DRILL, FURN & INSTAL) (TYPE L Total MISC. AGGREGATE	Material - To	- Total	6 7 7 8 8 8 8 6 6	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15, 2025 Jul 15, 2025 Jul 17, 2025 Jun 17, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 \$0.00 \$0.00 \$0.00 (\$4,540.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate.
	5003	TIE BAR (DRILL, FURN & INSTAL) (TYPE L Total MISC. AGGREGATE	Material - To	- Total	6 7 7 8 8 8 6 6 6 6	2025 Jun 17, 2025 Jun 30, 2025 Jun 30, 2025 Jul 15, 2025 Jul 15, 2025 Jul 17, 2025 Jun 17, 2025 Jun 17, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 (\$1,612.80) \$1,612.80 \$0.00 \$0.00 \$0.00 \$4,540.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user streeb3 overridding Payment Estimate Exception 19 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate.



ACGREGATE
STATE STAT
MU0050 Total
May 2
Adjustment
ACAD - Total
ACAD - Total September S
ACAD - Total
Communication Communicatio
Overrun Overrun 5
2025 9 Aug 3, SYSTEM (\$76,988,68)
2025
2025 SYSTEM \$116,026.70 Unit price based on averaged overrun adjustments for installed quantity on a previous payment estimates. Price Adjustments for installed quantity on a previous payment estimates. Price Adjustments of '.89,08000 - 89,08000, 's applied (if non-zero). Overrun - Total
2025 Section Previous payment estimates Price Adjustments of ',99.08000 - 89.08000, 'te applied (if non-zero).
Overrun - Total Sundament Sundament
Name
Name
ASPH. CONC. MIXTURE PG
3
2025
ACAD - Total S15,579.83
Other Item Adjustment - Total \$15,579.83
Tack coat Overrun Overrun 4
TACK COAT
Degree Tack Coat Overrun Overrun 4
2025
previous payment estimates. Price Adjustments of ',2.89000 - 2.89000, 'is applied (if non-zero). 9 Aug 3, 2025 SYSTEM \$630.02 Unit price based on averaged overrun adjustments for installed quantity on a previous payment estimates. Price Adjustments of ',2.89000 - 2.89000, 'is applied (if non-zero). Overrun - Total \$0.00 Overrun - Total \$0.00 MISC. Material 2 Apr 16, 2025 SYSTEM (\$48,028.91) 2 Apr 16, SYSTEM \$48,028.91 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment
2025 previous payment estimates. Price Adjustments of ',2.89000 - 2.89000, 'is applied (if non-zero). Overrun - Total
Overrun - Total \$0.00
Solution
0600 MISC. Material 2 Apr 16, 2025 (\$48,028.91) 2 Apr 16, SYSTEM (\$48,028.91) 2 Apr 16, SYSTEM \$48,028.91 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment
0600 MISC. Material 2 Apr 16, 2025 (\$48,028.91) 2 Apr 16, SYSTEM (\$48,028.91) 2 Apr 16, SYSTEM \$48,028.91 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment
2 Apr 16, 2025 \$48,028.91 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user streeb3 overridding Payment
Estimate Exception 2 on the current Payment Estimate.
- Total \$0.00
Material - Total \$0.00
0600 - Total \$0.00
40.00
0620 FURN & PLACE Material 2 Apr 16, SYSTEM (\$69,060.84)



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
0052	0620	FULL DEPTH	Material		2	Apr 16, 2025	SYSTEM	\$69,060.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
				- Total				\$0.00				
			Material - Tot	tal				\$0.00				
	0620 -	Total						\$0.00				
	0660	DOWEL BAR (DRILLING, FURNISHING AND	Material		1	Apr 3, 2025	SYSTEM	(\$1,289.40)				
		INST			1	Apr 3, 2025	SYSTEM	\$1,289.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user wilsor2 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					2	Apr 16, 2025	SYSTEM	(\$1,990.80)				
					2	Apr 16, 2025	SYSTEM	\$1,990.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.			
					3	May 2, 2025	SYSTEM	(\$1,990.80)				
					3	May 2, 2025	SYSTEM	\$1,990.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user streeb3 overridding Payment Estimate Exception 8 on the current Payment Estimate.			
					4	May 16, 2025	SYSTEM	(\$1,990.80)				
					4	May 16, 2025	SYSTEM	\$1,990.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 8 on the current Payment Estimate.			
								5	Jun 2, 2025	SYSTEM	(\$1,990.80)	
					5	Jun 2, 2025	SYSTEM	\$1,990.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 14 on the current Payment Estimate.			
					6	Jun 17, 2025	SYSTEM	(\$1,990.80)				
					6	Jun 17, 2025	SYSTEM	\$1,990.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user streeb3 overridding Payment Estimate Exception 16 on the current Payment Estimate.			
					7	Jun 30, 2025	SYSTEM	(\$1,990.80)				
					7	Jun 30, 2025	SYSTEM	\$1,990.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.			
				- Total				\$0.00				
			Material - Tot	tal				\$0.00				
	0660 -	Total						\$0.00				
	0670	FURN & PLACE BIT. MATL FOR CL B PARTIAL	Other Item Adjustment	ACAD	1	Apr 3, 2025	streeb3	\$18.16	62.1 of 095 for partial depth pavement repair			
		OL BT / II (TI) L		ACAD - Tota	al			\$18.16				
			Other Item A	djustment - T	otal			\$18.16				
	0670 -							\$18.16				
	0710	CHANNELIZER (TRIM-LINE)	Overrun	Overrun	8	Jul 15, 2025	SYSTEM	(\$1,500.00)				
					10	Aug 18, 2025	SYSTEM	\$1,500.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).			
				Overrun - T	otal			\$0.00				
			Overrun - To	tal				\$0.00				
	0710 -	Total						\$0.00				
	0760	CHANGEABLE MESSAGE SIGN WITH	Overrun	Overrun	4	May 16, 2025	SYSTEM	(\$2,360.00)				
		COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			10	Aug 18, 2025	SYSTEM	\$2,360.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2360.00000 - 2360.00000, 'is applied (if non-zero).			
		RETAINED		Overrun - T	otal			\$0.00				



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
(U0052	0760	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Overrun - To	tal				\$0.00	
	0760 -	Total						\$0.00	
	0790	PREF THERMO PAVMT MARKING, 6 IN WHITE	Overrun	Overrun	6	Jun 17, 2025	SYSTEM	(\$636.00)	
		0		10		Aug 18, 2025	SYSTEM	\$636.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',6.00000 - 6.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0790 -	Total						\$0.00	
	0800	PREF THERMO PVMT MARK, 24	Material		6	Jun 17, 2025	SYSTEM	(\$6,408.00)	
		IN WHIT			6	Jun 17, 2025	SYSTEM	\$6,408.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	8	Jul 15, 2025	SYSTEM	(\$408.00)	
					10	Aug 18, 2025	SYSTEM	\$408.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',24.00000 - 24.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0800 -	Total						\$0.00	
	0800 - 0810	PREF THERMO PVMT MARK, 24 IN YELLOW	Material		6	Jun 17, 2025	SYSTEM	(\$2,640.00)	
					6	Jun 17, 2025	SYSTEM	\$2,640.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user streeb3 overridding Payment Estimate Exception 22 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
			Material - Tot	Overrun	8	Jul 15, 2025	SYSTEM	(\$432.00)	
					10	Aug 18, 2025	SYSTEM	\$432.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',24.00000 - 24.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0810 -	Total						\$0.00	
	0820	PREF THERMO PVMT MARK,	Material		6	Jun 17, 2025	SYSTEM	(\$10,850.00)	
		LT/RT ARROW	T/RT ARROW		6	Jun 17, 2025	SYSTEM	\$10,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0820 -	Total						\$0.00	
	0830	PREF THERMO PVMT MARK,	Material		6	Jun 17, 2025	SYSTEM	(\$1,500.00)	
		WORD (ONLY)			6	Jun 17, 2025	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user streeb3 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0052	0830 -	Total	,					\$0.00	
	0840	PREF THERMO PVMT MARK, 30" WHT MIDBL	Material		6	Jun 17, 2025	SYSTEM	(\$17,835.00)	
		WHI MIDEL			6	Jun 17, 2025	SYSTEM	\$17,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user streeb3 overridding Payment Estimate Exception 25 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
	0840 -	Total						\$0.00	
	0850	4 IN. YELLOW	Overrun	Overrun	7	Jun 30,	SYSTEM	(\$33.41)	
		HIGH BUILD WATERBORNE PAVEMENT			10	2025 Aug 18,	SYSTEM	\$33.41	Unit price based on averaged overrun adjustments for installed quantity on all
		MARKING PAINT, TYPE L BEADS				2025			previous payment estimates. Price Adjustments of ',0.16000 - 0.16000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
	2022		Overrun - To	tal				\$0.00	
	0850 -		Oth on House	DEEL	40	A 40	-4	\$0.00	Debra and a shiften have a few C. IN. White High Deily
	0860	6 IN. WHITE HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	10	Aug 18, 2025	streeb3	\$602.40	Retro-reflectivity bonus for 6 IN. White High Build
		PAVEMENT MARKING PAINT,		REFL - Tota				\$602.40	
		TYPE L BEADS	Other Item A	djustment - T	otal			\$602.40	
	0860 -	Total	Other Har-					\$602.40	
	0870	HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	10	Aug 18, 2025	streeb3	\$463.93	Retro-reflectivity bonus for 6 IN. Yellow High Build
		PAVEMENT MARKING PAINT,		REFL - Tota	ıl			\$463.93	
		TYPE L BEADS	Other Item A	djustment - T	otal			\$463.93	
	0870 -	Total						\$463.93	
		COLDMILLING BIT. PAVT FOR REM OF SURF.	Other Item Adjustment	SUBI	2	Apr 16, 2025	streeb3	(\$24,003.00)	April 2 $-$ 14,887 SY Milling $-$ 50% Substandard $-$ 50% Deduct on 7,400 SY x \$1.89 x .5 = \$6993
									April 3 – 20,251 SY Milling – 90% Substandard – 50% Deduct on 18,000 SY X \$1.89 X .5 = \$17010
					10	Aug 18, 2025	streeb3	\$21,602.70	On Estimate #2 we charged a substandard deduct for milling completed on April 2nd, 2025, and April 3rd, 2025,
									April 2 - 14,887 SY Milling - 50% Substandard Deduct on 7,400 SY X \$1.89 X .5 = \$6,993
									April 3 - 20,251 SY Milling - 90% Substandard Deduct on 18,000 SY X \$1.89 X .5 = \$17,010
									After further conversation, MoDOT and the contractor decided to agree to a revised substandard deduct on the milling completed on April 2nd, 2025, and April 3rd, 2025.
									April 2 - 14,887 SY Milling - 50% Substandard Deduct on 7,400 SY X \$1.89
									X.05 = \$699.30 April 3 - 20,251 SY Milling - 90% Substandard Deduct on 18,000 SY X \$1.89 X.05 = \$1701.00
									The total figured on Estimate #2 was -\$24,003.00. The total figured on the revised agreement is -\$2,400.30.
									Therefore, we are paying the difference on this estimate of \$21,602.70 (\$24,003.00 - \$2,400.30) to reflect the changes made to the newly agreed upon substandard deduct.
				SUBI - Total					apon substantial a doddot.
			Other Item A	djustment - T				(\$2,400.30)	
			Overrun	Overrun	4	May 16, 2025	SYSTEM	(\$6,384.22)	
					5	Jun 2, 2025	SYSTEM	\$6,384.21	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1.89000 - 1.89000, 'is applied (if non-zero).
				Overrun - T	otal ——			/\$0.04\	applied (il fiori-zero).
			Overrup To		Otal			(\$0.01)	
	0910	Overrun - Total						(\$0.01)	
									Payment Estimate Item Adjustment generated Stockpile Transaction
	0540	WIGG GUARDRAIL,	Construction		5	Jun 2,	SISIEIVI	(ψυ1,υΔυ.υυ)	r aymont Estimate item Aujustinent generateu Stockpile Transaction



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
	20	2 decomposition	Туре	Adjustment Type	Number	Date	Ву	7 1110 1111	. tomane
JKU0052	0940	8 FT. POSTS, 6	Stockpile	Туре		2025			
0.100002	00.0	FT 3 IN	O to o t p ii o	- Total		2020		(\$37,323.00)	
			Construction	Stockpile - 1	Total			(\$37,323.00)	
			Construction		3	May 2,	SYSTEM	\$37,323.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI			2025			
			Construction	- Total	FMI Total			\$37,323.00	
			Construction	зтоскрие 5	5	Jun 2,	SYSTEM	\$37,323.00	
			Material		5	2025	STSTEIN	(\$53,718.75)	
					5	Jun 2, 2025	SYSTEM	\$53,718.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					6	Jun 17, 2025	SYSTEM	(\$58,792.50)	
					6	Jun 17, 2025	SYSTEM	\$58,792.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user streeb3 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0940	- Total						\$0.00	
	0950	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile		5	Jun 2, 2025	SYSTEM	(\$6,231.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			(EXT CURB)			6	Jun 17, 2025	SYSTEM	(\$1,246.20)
				- Total				(\$7,477.20)	
			Construction	Stockpile - 1				(\$7,477.20)	
			Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$7,477.20	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$7,477.20	
			Construction Material	Stockpile S				\$7,477.20	
				terial	5	Jun 2, 2025	SYSTEM	(\$9,735.00)	
					5	Jun 2,	SYSTEM		This adjustment offsets the original system-generated Material Payment
						2025		\$9,735.00	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6		SYSTEM	(\$12,980.00)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment
						2025 Jun 17,	SYSTEM SYSTEM		Estimate Item Adjustment (0011) due to user streeb3 overridding Payment
				- Total	6	2025 Jun 17, 2025 Jun 17,		(\$12,980.00)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment
			Material - Tot		6	2025 Jun 17, 2025 Jun 17,		(\$12,980.00) \$12,980.00	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment
	0950	- Total	Material - Tot		6	2025 Jun 17, 2025 Jun 17,		(\$12,980.00) \$12,980.00	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment
	0950 3	MGS BRIDGE APP. TRANS SEC	Material - Tot Construction Stockpile		6	2025 Jun 17, 2025 Jun 17,		(\$12,980.00) \$12,980.00 \$0.00	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment
		MGS BRIDGE	Construction Stockpile	tal - Total	6	Jun 17, 2025 Jun 17, 2025 Jun 17, 2025	SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate.
		MGS BRIDGE APP. TRANS SEC	Construction	tal - Total	6 6 5 5	Jun 17, 2025 Jun 17, 2025 Jun 17, 2025	SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate.
		MGS BRIDGE APP. TRANS SEC	Construction Stockpile	- Total	6	Jun 17, 2025 Jun 17, 2025 Jun 17, 2025	SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60) \$3,635.60)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate.
		MGS BRIDGE APP. TRANS SEC	Construction Stockpile Construction Construction Stockpile STMI	- Total Stockpile - 1	6 6 5 5 Total 3	2025 Jun 17, 2025 Jun 17, 2025 Jun 2, 2025	SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60) \$3,635.60 \$3,635.60	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total Stockpile - 1	6 6 5 Total 3	2025 Jun 17, 2025 Jun 17, 2025 Jun 2, 2025	SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60) \$3,635.60 \$3,635.60 \$3,635.60	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC	Construction Stockpile Construction Construction Stockpile STMI	- Total Stockpile - 1	6 6 5 5 Total 3 5 TMI - Total 5	Jun 2, 2025 May 2, 2025 Jun 2, 2025	SYSTEM SYSTEM SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60) \$3,635.60 \$3,635.60 \$3,635.60 (\$6,344.00)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total Stockpile - 1	6 6 5 Total 3	2025 Jun 17, 2025 Jun 17, 2025 Jun 2, 2025 May 2, 2025 Jun 2,	SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60) \$3,635.60 \$3,635.60 \$3,635.60	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total Stockpile - 1	6 6 5 5 Total 3 5 TMI - Total 5	2025 Jun 17, 2025 Jun 17, 2025 Jun 2, 2025 Jun 2, 2025 Jun 2, 2025 Jun 2,	SYSTEM SYSTEM SYSTEM	(\$12,980.00) \$12,980.00 \$0.00 \$0.00 (\$3,635.60) (\$3,635.60) \$3,635.60 \$3,635.60 \$3,635.60 (\$6,344.00)	Estimate Item Adjustment (0011) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
KU0052	0960	MGS BRIDGE APP. TRANS SEC	Material						Estimate Exception 13 on the current Payment Estimate.	
		(REG/NO CURB)		- Total				\$0.00		
			Material - Tot	tal				\$0.00		
	0960 -	Total						\$0.00		
	0970	MGS END ANCHOR	Construction Stockpile		5	Jun 2, 2025	SYSTEM	(\$2,937.80)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$2,937.80)		
			Construction	Stockpile - 1	Total			(\$2,937.80)		
			Construction Stockpile		3	May 2, 2025	SYSTEM	\$2,937.80	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$2,937.80		
			Construction	Stockpile S	TMI - Total			\$2,937.80		
			Material		5	Jun 2, 2025	SYSTEM	(\$3,676.00)		
					5	Jun 2, 2025	SYSTEM	\$3,676.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user streeb3 overridding Payment Estimate Exception 11 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tot	tal				\$0.00		
	0970 -	Total						\$0.00		
	0980	TYPE A CRASHWORTHY	Construction Stockpile		5	Jun 2, 2025	SYSTEM	(\$17,011.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		END TERMINAL (MASH)	END TERMINAL		- Total				(\$17,011.00)	
	(IVIA		Construction		Total			(\$17,011.00)		
				Construction		3	May 2,	SYSTEM	\$17,011.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				Stockpile STMI	- Total		2025		\$17,011.00	
			Construction		TML Total					
			Construction Material	і этоскріїе э			CVCTEM	\$17,011.00		
			Material		5	Jun 2, 2025	SYSTEM	(\$24,678.00)		
						5	Jun 2, 2025	SYSTEM	\$24,678.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user streeb3 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					6	Jun 17, 2025	SYSTEM	(\$27,420.00)		
					6	Jun 17, 2025	SYSTEM	\$27,420.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user streeb3 overridding Payment Estimate Exception 14 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tot	tal				\$0.00		
	0980 -	Total						\$0.00		
	0990	MISC.	Material		6	Jun 17, 2025	SYSTEM	(\$44,000.00)		
					6	Jun 17, 2025	SYSTEM	\$44,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user streeb3 overridding Payment Estimate Exception 27 on the current Payment Estimate.	
			- Total				\$0.00			
			Material - Tot	tal				\$0.00		
	0990 -	Total						\$0.00		
		DOWEL BAR (FURNISH AND	Material		5	Jun 2, 2025	SYSTEM	(\$241.92)		
		INSTALL WITH BASK	TALL WITH		5	Jun 2, 2025	SYSTEM	\$241.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user streeb3 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
					6	Jun 17, 2025	SYSTEM	(\$241.92)		
						6	Jun 17, 2025	SYSTEM	\$241.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user streeb3 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					7	Jun 30,	SYSTEM	(\$241.92)		



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J0052	5102	DOWEL BAR	Material			2025				
		(FURNISH AND INSTALL WITH BASK			7	Jun 30, 2025	SYSTEM	\$241.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user streeb3 overridding Payment Estimate Exception 11 on the current Payment Estimate.	
					8	Jul 15, 2025	SYSTEM	(\$241.92)		
					8	Jul 15, 2025	SYSTEM	\$241.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	5102 -	- Total						\$0.00		
	5103	TIE BAR (DRILL, FURN & INSTAL)	Material		5	Jun 2, 2025	SYSTEM	(\$981.12)		
		(TYPE L			5	Jun 2, 2025	SYSTEM	\$981.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user streeb3 overridding Payment Estimate Exception 16 on the current Payment Estimate.	
					6	Jun 17, 2025	SYSTEM	(\$981.12)		
					6	Jun 17, 2025	SYSTEM	\$981.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user streeb3 overridding Payment Estimate Exception 20 on the current Payment Estimate.	
					7	Jun 30, 2025	SYSTEM	(\$981.12)		
						7	Jun 30, 2025	SYSTEM	\$981.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user streeb3 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				8	8	Jul 15, 2025	SYSTEM	(\$981.12)		
					8	Jul 15, 2025	SYSTEM	\$981.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	5103 -	Total						\$0.00		
	5108	MISC. AGGREGATE FOR BASE	Material		6	Jun 17, 2025	SYSTEM	(\$116,211.60)		
		T ON BAGE			6	Jun 17, 2025	SYSTEM	\$116,211.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user streeb3 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
					7	Jun 30, 2025	SYSTEM	(\$116,211.60)		
					7	Jun 30, 2025	SYSTEM	\$116,211.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user streeb3 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To					\$0.00 \$0.00		
	5108 -	- Total	Material - To							
J0052 -		- Total	Material - To					\$0.00		



Contract Adjustments for Contract - 240920-C04

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
2	JKU0052	Liquidated Damage	OTHR	(\$20,000.00)	100	April 16, 2025	streeb3	Shift on 4/10/25 Exceeded the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 by 50 Minutes for \$3,000. (off road at 6:50 AM) Shift on 4/11/25 Exceeded the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 by 3 hours and 13 minutes for \$12,000. (off road at 9:13 AM) Shift on 4/12/25 Exceeded the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 by 1 hour and 29 Minutes for \$5,000. (off road at 7:29 AM)
2 - Total				(\$20,000.00)				
3	JKU0052	Liquidated Damage	OTHR	\$12,000.00	100	May 2, 2025	streeb3	Shift on 4/11/25 exceeded the time restriction by 3 hours and 13 minutes. Ideker had completed all construction related activities and was off the road prior to the 6:00 AM time restriction. Due to the accident that occurred in the work zone, KCPD had requested that we leave traffic control in place for safety while they completed their investigation and cleaned up the accident. Therefore, we are reinstating the \$12,000 LD that Ideker was originally charged on estimate #0002.
3 - Total				\$12,000.00				
4	JKU0052	Liquidated Damage	OTHR	(\$22,000.00)	100	May 16, 2025	streeb3	\$22,000 total LD for the JKU0052 project. Shift on $5/5/25$ exceeded the time restriction of $6:00$ AM (following morning) as per JSP C -3.5 by 42 minutes for \$2,000. Shift on $5/14/25$ exceeded the time restriction of $6:00$ AM (following morning) as per JSP C -3.5 by 1 hour and 57 minutes for \$7,000. Shift on $5/15/25$ exceeded the time restriction of $6:00$ AM (following morning) as per JSP C -3.5 by 3 hours and 25 minutes for \$13,000.
4 - Total				(\$22,000.00)				
6	JKU0052	Other Contract Adjustment	SPAD	\$18,660.48	100	June 17, 2025	streeb3	Lot 1 SP095 Volumetric Adjustment for 4000-ton lot @ 104.8%
		Other Contract Adjustment	SPAD	\$19,438.00	100	June 17, 2025	streeb3	Lot 2 SP095 Volumetric Adjustment for 4000-ton lot @ 105.0%
6 - Total				\$38,098.48				
7	JKU0052	Other Contract Adjustment	SPAD	\$19,438.00	100	June 30, 2025	streeb3	Lot 3 SP095 Volumetric Adjustment for 4000-ton lot @ 105.0%
		Other Contract Adjustment	SPAD	\$19,438.00	100	June 30, 2025	streeb3	Lot 4 SP095 Volumetric Adjustment for 4000-ton lot @ 105.0%
		Other Contract Adjustment	SPAD	\$20,432.84	100	June 30, 2025	streeb3	Lot 5 SP095 Volumetric Adjustment for 5255.9-ton lot @ 104.0%
		Other Contract Adjustment	TSR	\$32,818.83	100	June 30, 2025	streeb3	Lot 3-5 (3C-5G) TSR Adjustment for a represented quantity of 11,255.9 tons at a TSR% of 92.4% with equals a pay adjustment of 103% (Per Sec 403)
7 - Total				\$92,127.67				
8	JKU0052	Other Contract Adjustment	ABIR	\$50,028.90	100	July 15, 2025	streeb3	EBLN1 = \$11,724.92 EBLN2 = \$13,072.15 WBLN1 = \$12,965.19 WBLN2 = \$12,266.64
8 - Total				\$50,028.90				
10	JKU0052	Liquidated Damage	OTHR	\$30,000.00	100	August 18, 2025	streeb3	Moved all previously charged Liquidated Damages for exceeding the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 to the correct adjustment type, Road User Cost.
		Other Contract Adjustment	RUC	(\$30,000.00)	100	August 18, 2025	streeb3	Moved all previously charged Liquidated Damages for exceeding the time restriction of 6:00 AM (following morning) as per JSP C - 3.5 to the correct adjustment type, Road User Cost.
10 - Total				\$0.00				

Revision 5/29/2025 Page 21 of 21